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1. The additive inverse of 7 is

M L oGy (1) i Lo oo v (D)
| 6 I - 7 1 6 v Vv 7

2
2. The multiplicative inverse of-3 is

(i) : (ii) 2'1 (iii) ('-1) (iv) 3 (v) 3'1
S ) 20 (i) () (v) o (v) 35

2
3. The additive inverse of-3 is

(i) 3 (if) ('-2) (iii) > (iv) 0 (v) (1--2)
oo ) () (i) o (v v) (1o
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4. The multiplicative inverse of (— ) is

(i) : (if) (3}) (iii) (f) (iv) (2}) (v) (i)
) S ) (32) (i) () (V) (25) (v) (5
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5. The additive inverse ofg is

(i) (j) (i) > (iii) (1‘—1) (iv) 0 (v) >
(g ) - (i) (1) (v vl g
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6. The multiplicative inverse ofg is

(i) 2E (i) (-1‘—1) (iii) (ﬁ) (iv) > (v) 1§
9 9 9 9 9

7. Which of the following are true?

a) 20 106 106 20
—_—t—— = 4 —
11 13 13 11

b) 20 23 23 20
- X = X

113 3 11

(i) {c,a} (i) {a,b} (iii) {c.d,a} (iv) {d,b} (v) {c,ba}



8.

10.

11.

Which of the following are true?

a) 7 _(15_ 1)_(7 15 1
19 "2 20" 19 2 °°20
b) 9 33 6 9 33 6
14 4 5 14 4 ° 5
c) 9 15 2 9 15 2
)= X )x
14 2 13 145 2 713
d 7 33 7 — 7 33 7
19 4 16 ‘19 4 ' 16
(i) {a,b} (i) {b,c} (i) {a.c.b} (iv) {a,d.b} (v)
Which of the following are true?
a)11 19 3 11 19 11 3
+( )=(-—+ )+ (o +-2)
19 17 19 19 17 19 19
b) 11 162 11 11 162 11 11
—(Go X )= =X (-
19 17 6 19 17 19 6
)5 162 19 5 162 5 19
- x(. _ =(. X - _(. X -
7 17 13 7 17 7 13
ds5 19 10 5 19 10
)=(= X )+ (= X )
7 717 9 717 9
(i) {c.d} (i) {b,d} (i) {a.d,c} (iv) {a,b,c} (V)
Which of the following are true?
a) 8 95 95 8
19 11 11 19
b) 4 95 95 4
13 11 11 13
) 4 17 17 4
13 2 2 13
d) 8 17 _17 8
19 2 2 19
(i) {b,c,a} (ii) {a,d} (iii) {c,d} (iv) {b,a} (v)
Which of the following are true?
a) 11 51_11)_ 11 51 11
20 10 12° '20 "10 12
b) 8 77 17 8 77 17
()= )
13 8 16 13 8 16
c) 11 77 13)_ 11 77 13
20 8 16 20 8 16
d 8 51 16 8 51 16
X ( )=( )
1310 7 13 10" 7
(i) {c,d} (i) {b,d} (ii) {a,b} (iv) {a,d,b} (v)

{d,c}

{a,c}

{b,d,a}

{a,c,b}



12. Which of the following are true?

a) 1 70 11 1 70 1 11
X (A= (e X ) (X )
10 11 20 10 11 10 20

(i) {d,c} (i) {b,a} (ii) {b,d,a} (iv) {b,c,a} (v) {ac}

13. Which of the following are true?

a) 12 17 17 12

13 13 13 13

5 13 13 5
)4 46 46 4
X - = X -

5 9 9 5

d 12 46 46 12
13 9 9 13

(i) {a,c,b} (ii) {b,c} (iii) {d,c} (iv) {a,b} (v) {a,d,b}

14. Which of the following are true?

a) 14 121 11 14 121 11

15 13 17’ 15 13 ' 17

b) 15 135 8 15 135 8
)= (o )+
16 17 5 '16 175

c) 14 (135 13)_(14 135) 13
15 17 6 15 17 6

d) 15 121 19 15 121 19
E x(. X - ) ( X - )x -
16 13 14 16 13 14

(i) {c,d} (i) {acb} (i) {a,db} (iv) {ab} (v) {bd}

15. Which of the following are true?

a) 20 131 13 20 131 20 13
e e ) KN G

17 16 4 17 16 17 4
b) 1 131 3 1 131 1 3
ST )= (X T (X )
14 16 4 14 16 14 4

c) 20 149 1 20 149 20 1
(=X 2)=(S - )X (S -

17 20 4 17 20 17 4)

(i) {b,d} (ii) {a,d,b} (iii) {c,d} (iv) {a,b} (v) {a,c,b}



Assignment Key

1) (v) 2) (iv) 3) (ii) 4) (iii) 5) (i) 6) (iv)
7) (ii) 8) (ii) 9) (i) 10) (ii) 11) (ii) 12) (v)
13) (ii) 14) (v) 15) (i)

Copyright © Small Systems Computing Pvt. Ltd.



